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Section A
1 (a) Explain the role of schools in preparing young people for work. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few points about the role of schools in
general, with no clear links to the preparation of people for work, would be worth up to 2
marks. A simple account of one or two ways in which schools prepare young people for work
would trigger the higher part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of two or three ways in
which schools prepare young people for work would be worth up to 7 marks. To go higher,
the explanations offered will be more detailed (for example, including a good summary of
Bowles and Gintis’ correspondence theory) and/or cover a wider range of relevant points.

‘Access to cultural capital is the main factor explaining why educational achievement
is high among middle class pupils.’ Assess this view. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few general observations about the
educational achievement of middle class pupils, with no reference to cultural capital, would
be worth up to 3 marks. An attempt to explain what is meant by cultural capital, with no
further development in relation to the question, would fit the higher part of the band.

[7-11]

Answers at this level will provide a sound account of how access to cultural capital may
influence educational achievement. There will be some use of relevant sociological sources,
such as concepts, theories and explanations. Answers will cover a range of points and show
a sound understanding of the issues raised by the question. An accurate but underdeveloped
account one or two ways in which access to cultural capital may influence the educational
achievement of middle class pupils would be worth up to 9 marks. To go higher, the
explanation of the links between cultural capital and educational achievement will be more
detailed and/or a wider range of points will be covered.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of access to cultural capital
may influence educational achievement. There will also be an assessment of the view on
which the question is based. Lower in the band, the assessment is likely to be based on a
juxtaposition of different explanations of middle class educational achievement, including
reference to the idea of cultural capital. To go higher, the answers will include an explicit
assessment of the idea that access to cultural capital is the main factor influencing the
educational achievement of the middle class.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to
answering the question.

Third, there must also be some evidence of assessment.

© Cambridge International Examinations 2016



Page 3 Mark Scheme Syllabus | Paper
Cambridge International AS/A Level — May/June 2016 9699 33
2 (a) Explain how language use may influence educational achievement. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about educational
achievement, with no clear links to language use, would be worth up to 2 marks. A simple
account of one or two ways in which language use may influence educational achievement
would fit the higher part of the band. A simple account is unlikely to include reference to
recognised sociological ideas.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of two or three ways in
which language use may influence educational achievement would be worth up to 7 marks.
To go higher, the explanations offered will be more detailed (for example, by providing a
good account of Bernstein’s ideas) and/or a wider range of relevant points will be covered.

‘Peer groups have more influence than teachers in shaping pupil attitudes to
education.’ Assess this claim. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about pupil peer groups,
with no further links to the question, would be worth up to 3 marks. A general account of
factors influencing pupil attitudes to education, with only very limited references to peer
groups and teachers, would fit the higher part of the band.

[7-11]

Answers at this level will provide a sound account of the influence that peer groups have in
shaping pupil attitudes. There will be some use of relevant sociological sources, such as
concepts, theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. An accurate but underdeveloped account
of two or three ways in which peer groups may influence pupil attitudes would be worth up to
9 marks. To go higher, a wider range of points will be covered and/or there will be some
consideration of the role of teachers in shaping pupil attitudes.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of the influence that peer
groups have in shaping pupil attitudes. There will also be an assessment of the view on
which the question is based. Lower in the band, the assessment is likely to rely on a
juxtaposition of different explanations of the factors that shape pupil attitudes to education.
To go higher, answers will include some explicit analysis of the extent to which peer groups
have more influence than teachers in shaping pupil attitudes.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to
answering the question.

Third, there must also be some evidence of assessment.
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Section B
3 (a) Explain the ‘culture of poverty’ thesis. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about poverty, with no clear
links to the culture of poverty thesis, would be worth up to 2 marks. A simple attempt to
define what is meant by the ‘culture of poverty’ would fit the higher part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of the culture of poverty
thesis would be worth up to 7 marks. To go higher, the account must be more detailed and/or
nuanced; this is likely to include, for example, a clear implicit, if not explicit, grasp of how the
culture of poverty thesis differs from New Right views about poverty which, to a large extent,
blame the individual for being in poverty. Contrasts with structural explanations of poverty
might be another way in which the candidate can demonstrate a good understanding of the
culture of poverty thesis.

‘All countries benefit from economic globalisation.’ Assess this view. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few general points about development, with
no clear links to globalisation, would be worth up to 3 marks. An attempt to define
globalisation, with no further development, would fit the higher part of the band.

[7-11]

Answers at this level will provide a sound account of the impact of globalisation. There will be
some use of relevant sociological sources, such as concepts, theories and explanations.
Answers will cover a range of points and show a sound understanding of the issues raised by
the question. An accurate but underdeveloped account of how countries may benefit from
globalisation would be worth up to 9 marks. To go higher in this band, the account will be
more detailed, possibly including some awareness of the adverse impact of globalisation, as
well as its benefits.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of the impact of
globalisation. There will also be an assessment of the view on which the question is based.
Lower in the band, the assessment is likely to be confined to a basic listing of arguments for
and against globalisation and its supposed benefits. To go higher, there must be some
explicit assessment of the view that all countries benefit from globalisation.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.
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4 (a) Explain the difficulties in assessing the effectiveness of aid programmes in

(b)

developing countries. [9]

[0-4]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few general observations about the problems
of helping developing countries, with no particular reference to aid, would be worth up to 2
marks. A simple account of one or two ways in which it may be difficult to assess the
effectiveness of aid in developing countries would fit the higher part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of two or three
difficulties in assessing the effectiveness of aid in developing countries would be worth up to
7 marks. To go higher, the account must be more detailed and/or cover a wider range of
relevant difficulties.

Assess the idea that all societies are moving towards the same stage of development.
[16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few general observations about development,
with no particular links to world systems theory, would be worth up to 3 marks. An attempt to
define what is meant by world systems theory, with no further development, would trigger the
higher part of the band.

[7-11]

Answers at this level will provide a sound account of the world systems theory. There will be
some use of relevant sociological sources, such as concepts, theories and explanations.
Answers will cover a range of points and show a sound understanding of the issues raised by
the question. An accurate but underdeveloped account of two or three features of world
systems theory would be worth up to 9 marks. To go higher with the band, the account would
need to be more detailed and/or cover a wider range of points about the theory.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of world systems theory.
There will also be an assessment of the view on which the question is based. Lower in the
band, the assessment may be limited to a juxtaposition of different theories of development,
including world systems theory. To go higher, there must be some explicit assessment of the
strengths and limitations of world systems theory.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.
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Section C
5 (a) Explain why the media may have more influence over some social groups than others.

(b)

[9]

[0-4]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about the influence of the
media in general, with no direct links to the question, would be worth up to 2 marks. A simple
account of one or two reasons why the influence of the media may be greater among some
social groups than others would fit the higher part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of one or two reasons
why the influence of the media may be greater among some social groups than others would
be worth up to 7 marks. To go higher, the account must be more detailed and/or cover a
wider range of reasons.

Assess the extent to which the media contribute to a democratic society. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about the nature of
democracy, with no direct links to the media, would be worth up to 3 marks. A simple attempt
to explain one way in which the media contributes to democracy would fit the higher part of
the band.

[7-11]

Answers at this level will provide a sound account of the role of the media in contributing to
democracy. There will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. An accurate but underdeveloped account
of one or two ways in which the media may contribute to democracy would be worth up to 9
marks. To go higher within the band, the account must be more detailed and/or include a
wider range of relevant points. Greater detail might be provided, for example, through
effective use of the pluralist theory or by reference to studies of the media in politics.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of how the media
contributes to democracy. There will also be an assessment of the view on which the
question is based. Lower in the band, the assessment may be confined a simple listing of
points for and against the idea that the media contributes to democracy. To go higher, there
must be some explicit weighing of the arguments/evidence to reach a clear conclusion about
the extent to which the media contributes to a democratic society.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.

© Cambridge International Examinations 2016




Page 7 Mark Scheme Syllabus | Paper
Cambridge International AS/A Level — May/June 2016 9699 33
6 (a) Explain the impact of globalisation on the power of media owners. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about globalisation, with no
clear links to the media, would be worth up to 2 marks. A simple account of the impact of
globalisation on the power of the media in general, with no further development, would
trigger the upper part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of one or two ways in
which globalisation has affected the power of media owners would be worth up to 7 marks.
To go higher, the account must be more detailed and/or cover a wider range of points.

Assess the extent to which news presentation reflects the interests of the rich and
powerful. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about news presentation,
with no direct links to the values of the rich and powerful, would be worth up to 3 marks. A
simple account of one or two ways in which the values of the rich and powerful may be
reflected in news presentation would be fit the higher part of the band.

[7-11]

Answers at this level will provide a sound account of how news presentation may reflect the
values of the rich and powerful. There will be some use of relevant sociological sources,
such as concepts, theories and explanations. Answers will cover a range of points and show
a sound understanding of the issues raised by the question. An accurate but underdeveloped
account of one or two ways in which the values of the rich and powerful may be reflected in
news presentation would be worth up to 9 marks. To go higher within this band, the account
must be more detailed and/or include a wider range of relevant points. A more detailed
account, for example, might include use of relevant studies and/or theories of the media to
support key points.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of how news presentation
may reflect the values of the rich and powerful. There will also be an assessment of the view
on which the question is based. Lower in the band, the assessment may rely on a simple
juxtaposition of different views about news presentation and the interests that it represents or
reflects. To go higher, the will be some explicit assessment of the extent to which news
presentation reflects the views of the rich and powerful.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.
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Section D
7 (a) Explain the relationship between religion and the rise of capitalism. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few general points about the role of religion in
bringing about social change, with no clear links to the rise of capitalism, would be worth up
to 2 marks. A simple account of the relationship between religion and the rise of capitalism
would fit the higher part of the band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of the relationship
between religion and the rise of capitalism would be worth up to 7 marks. To go higher, the
account must be more detailed and this might include, for example, use of theory and
evidence from thinkers other than just Max Weber. If the answer relies entirely on a summary
of Max Weber’s ideas, then this must be detailed and well explained in order to reach the
higher part of the band.

Assess the extent to which religion has become disengaged from society. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few points about religion in general, with no
direct links to the question, would be worth up to 3 marks. A simple account of one or two
ways in which religion may have become disengaged from society, would trigger the higher
part of the band.

[7-11]

Answers at this level will provide a sound account of the idea that religion has become
disengaged from society. There will be some use of relevant sociological sources, such as
concepts, theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. An accurate but underdeveloped account
of one or two ways in which religion may have become disengaged from society would be
worth up to 9 marks. To go higher within the band, the account must be more detailed and/or
cover a wider range of points. A more detailed account might include, for example, a clear
conceptual understanding of what is meant by religious disengagement and/or good use of
relevant theoretical perspectives on the secularisation debate.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of the idea that religion has
become disengaged from society. There will also be an assessment of the view on which the
question is based. Lower in the band, the assessment may be confined to a basic listing of
points for and against the secularisation thesis. To go higher, there must be an explicit
assessment of the extent to which religion has become disengaged from society.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.
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8 (a) Explain how religion helps to reinforce social values. [9]
[0-4]

(b)

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few points about the role of religion, with no
reference to reinforcing social values, would be worth up to 2 marks. A simple account of one
or two ways in which religion helps to reinforce social values would fit the higher part of the
band.

[5-9]

At this level, there will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of one or two ways that
religion may help to reinforce social values would be worth up to 7 marks. To go higher, the
account must be more detailed (perhaps through reference to relevant theories and/or
greater use of concepts) and/or cover a wider range of points.

‘Religion protects the interests of privileged groups.’ Assess this claim. [16]

[0-6]

At this level, there may be little or no reference to relevant sociological sources. Answers
may rely on general knowledge and/or personal observation. Explanations will be brief and
cover only a narrow range of relevant points. A few observations about the role of religion,
with no particular reference to protecting the interests of privileged groups, would be worth
up to 3 marks. A simple account of one or two ways in which religion might protect the
interests of privileged groups (the ruling class, for example, or men) would fit the higher part
of the band.

[7-11]

Answers at this level will provide a sound account of how religion may protect the interests of
privileged groups. There will be some use of relevant sociological sources, such as concepts,
theories and explanations. Answers will cover a range of points and show a sound
understanding of the issues raised by the question. A sound account of one or two ways in
which religion may protect the interests of privileged groups would be worth up to 9 marks.
To go higher within this band the account must be more detailed and/or cover a wider range
of points.

There is no requirement for assessment at this level although it may be present.

[12-16]

Answers that fit this band will demonstrate a good understanding of how religion may protect
the interests of privileged groups. There will also be an assessment of the view on which the
qguestion is based. Lower in the band, the assessment may rely on the juxtaposition of
different theories of religion, including those theories (Marxist, feminist) that focus on religion
protecting the interests of privileged groups. To go higher, there must be some explicit
assessment of the claim that religion protects the interests of the rich and powerful.

Answers at this level must achieve three things: —

First, there will be good sociological knowledge and understanding.

Second, the material used will be interpreted accurately and applied effectively to answering
the question.

Third, there must also be some evidence of assessment.
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